10 72°
(1) 5-sin36°
(2) 5-tan36°
(3) 5-cot36°
(4) 5-sec36°
(5) 5-csc36°

X+5y-7=0,2x+y+4=0,x-y-1=0
Li,L2,Ls
(1) Liz x+5y-7=0 L::2x+y+4=0 Ls:x-y-1=0 Ly
(@ Li:x-y-1=0 Lz x+5y-7=0 Ls:2x+y+4=0
3) Liz2x+y+4=0 L::x+5y-7=0 Ls:x-y-1=0 Ly
4 Li:x-y-1=0 L.z 2Xx+y+4=0 Ls:x+5y-7=0

(B) Li:2x+y+4=0 L.:x-y-1=0 Ls: x+5y—-7=0

5 ( 10 )

A 1,1, 1, 1, 1,10,10,10,10,10
B 1, 1, 1, 1, 1,5, 5, 5,5, 5
C 4,4, 4,5,5,5,5,6, 6, 6
D 1,1, 2, 2, 3,3, 4, 4,5,5
E 1, 2,3, 4,5, 6, 7,8, 9,10
@ A

@ B

® C

OR

®) E




5  (X,Y) 4
! .E(10,12)

@ A
@B
@A C
@D . ‘c@4.5)

) E e B(2.4)
A(1,3)

0¢3,10)

1980 50 1987
50 1999 60 2023

@ 75
) 80
(3) 86
4 92
(G) 100

1999 6 1 20972593 _1
Ad A4 3000
[ log,2~0.3010 ]
1) 50
(@ 100
) 200
(@) 500
() 700



P 2

(1) P.i=P:=P;s
(2 Pi=P:>Ps
(3) Pi=Pi<P;
(4) P.=P:>P;
(5) Ps>P:>P.

Ps

P2

2.5

o @y
@ (19
® B-2
@ (-1-2
® G

(D) c=2a
(@) a<b<c
@) b=+2a
@ A,B,C,D
() A,B,C

(-11.G1

34




10.

@
@
®
®
®

N X B
X N DN

[N

f(X) f(X)
f(X)
f()=0
f(2)=0
f(-3)=0
f(5 =0

( 1316 )

[4)] AW N [

( 2000 ) 1

120@@

1

2,3
4,5,6
7,8,9,10

11,12,13,14,15

100 3 BWVBW




X3 —17x*> +32x-30=0 a+i,1+bi

L E: x+2y+3z=9
x+19 y+@0 22D
12 A B
B 3
A B 2 @
20
15° 200
@@ /

@@

a,b

(2,-3,4)

400

20

12



10 5 6

? @@ &)
L 0.8 5
—_ ( ) -
GG ( )
&
27 8 A
2 3 B




N

Z
X_—bi\/b2—4ac
2a
Y2_y1
X, X, , m=22—"1
(4, ¥1) (%, Y2) %~ x,
(1-r"
<ar”‘1> n Sn:a( ' ),r;tl.
1-r
. AABC
o2 -2 _ % _r R ( )
snA snB snC
(2)c* =a® +b* — 2abcosC ( )

ni=1
sz\/i(xi _X)? _\/ﬁzxﬁ—x
i % yXyi _V) .Zn:(xi _nyl _?)
r = i=1 — i=1
n-S.S, \/Zl x - X) g(y. _v)
s, X s, Y
P(AP(B|A)

PIAIB) = P(A)P(B| A) + P(A)P(B| A)

V2214142 J3~17321: J5~22361: /7~ 2.6458

log,, 2 ~ 0.3010, log,, 3~ 0.4771, log,, 5~ 0.6990, log,, 7 ~ 0.8451



~

21

22
23
24
25
26
27
28
29
30
31

32

33
34
35
36

2,34
1,25

1,234

10
11
12
13
14
15
16
17
18

19

20




1| 3 |21| 4
2| 3 |22] 4
3| 5 23] 1
4| 345 |24| 4
5] 135 |25] 1
6| 14 |26| 3
71235 |27| 6
8 | 125 [28| O
9] 124 [29] 1
10/1,345[30| 2
1m| 2 31| 1
12| 5 [3] 0
13| 7
14| 4
15| 0
6] 1
17| 2
18| 5
19| 2
20| 5




